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HHH :2022.8.2 6:39

BRfEEH H :20224E07 HO1 H (42) ~ 2022407 H31H (H)
T2 R RN T CHME3E. 0 &S, 0 ELA—: 1 2 4 6 7 8
1 3 4 5 6 8
WA AaT7hy b HTNR— 0 w1 2 4 5 7 9
= — = 2N : BYEBOT AN ZME43 N AFEFB50A
BN EHE o N T 4 AFEHAH
JEAZ ZINE K4 it GROSS| HDCP | NET | crossht ik JIEA7. ZINE K4 H it 75 | GROSS| HDCP | NET |crossif &
LU Tk 42 42 84| 15.6 | 68.4 & s 51|k TER 39 46 85/ 12.0 | 73.0
20 My £— 45 41 86| 16.8 |69. 2 UELE IS 52|k #FH 45 40 85/12.0 |73.0
3R 5w 34 37 71] 1.2 169.8 3 53| =K J& 41 44 85/ 12.0 | 73.0
4/ HE B8 40 41 81/10.8 | 70.2 A4 hr 54 | Fs £9L 43 42 85/ 12.0 | 73.0
5/ IR 2t 43 43 86| 15.6 | 70.4 5 {ir 55| WLEE E 46 42 88/ 15.0 |73.0
62& 0 P 38 41 79| 8.4 |70.6 6\ 56| fAA JABH 41 50 91| 18.0 | 73.0
HEE S 42 36 78] 7.2 |70.8 7L 57 & {5 1M 46 45 91/18.0 1 73.0
8lgn A T 41 43 84/ 13.2 |70.8 8 {ir 58| FHIE % 48 49 97/24.0 73.0
9N IEE 39 43 82/ 10.8 | 71.2 9 {ir F9|IEA il 51 46 97/24.0 |73.0
10 2K fa] 44 43 87/ 15.6 | 71.4 1 0L 60 |JTik A 52 51| 103/30.0 | 73.0 RE
11ER 413 44 43 87/ 15.6 | 71.4 61 |JLIRE F548f 41 37 78/ 4.8 |73.2
12|14 FK 48 45 93/21.6 | 71.4 62| B K Fiz 40 44 84/10.8 |73.2
IRILE YN 45 41 86| 14.4 | 71.6 63|k fir 42 42 84110.8 |73.2
14 & B 47 45 92/120.4 | 71.6 64 IEF 44 46 90| 16.8 | 73.2
150 4 42 43 85| 13.2 | 71.8 RE 65| FA % 46 44 90| 16.8 | 73.2
16 | IR HE— 46 45 91]19.2 | 71.8 66 | HE #BZ 46 44 90| 16.8 | 73.2
178K B 47 44 91/19.2 | 71.8 67 1K F 41 49 90| 16.8 |73.2
18| /EH A 45 46 91/19.2 | 71.8 68Tk tL+ 45 45 90| 16.8 |73.2
19 M8 it 43 48 91]19.2 | 71.8 69|52 5L= 46 44 90| 16.8 | 73.2
20|75 FH # 44 47 91]19.2 | 71.8 RE 70/ A H 42 41 83| 9.6 |73.4 RE
21))\H B¥ 43 54 97/25.2 | 71.8 71|52 H FosE 41 42 83| 9.6 |73.4
22|ZH 1§ 53 44 97(25.2 | 71.8 24 H B% 47 42 89| 15.6 | 73.4
23| THE N 40 44 84/12.0 |72.0 T30 PR 44 45 89/ 15.6 | 73.4
24 |k IEIR 42 42 841 12.0 [72.0 T4 JER 5 43 46 89| 15.6 |73.4
25 B R 46 44 90/ 18.0 | 72.0 hhEa —Z 45 44 89| 15.6 | 73.4
26 FAK 454 47 43 90| 18.0 | 72.0 76| TE BE 43 52 95/21.6 | 73.4
27 1HH Fk 45 45 90/ 18.0 | 72.0 TR S 49 46 95/21.6 | 73.4
28| JE R, A5 41 49 90| 18.0 | 72.0 78| THHL &= 46 49 95/21.6 |73.4
29 HH R 47 43 90(18.0 | 72.0 A ER 50 45 95/21.6 | 73.4
30|tk far 37 40 77| 4.8 [72.2 RE 80| & F] & 48 47 95/21.6 |73.4 TRE
31EA & 38 45 83/ 10.8 |72.2 81|°FHy =05 53 48| 101/27.6 | 73.4
2= BE 45 44 89(16.8 | 72.2 82K B EE 49 52| 101]27.6 |73.4
3G BEiR 44 51 95(22.8 [ 72.2 83| faA 4f5L 38 44 82| 8.4 |73.6
342 A ZETE 47 54 101]28.8 [ 72.2 84 |1AFT H. 45 37 82| 8.4 [73.6
35| K FE 33 37 70| 2.4 | 72.4 85| ZERE Fngk 41 41 82| 8.4 |73.6
36| B P 40 42 82| 9.6 |72.4 86 | '= Ik BN 44 38 82| 8.4 |73.6
37 THE N 40 42 82| 9.6 |72.4 87 /v 42 46 88| 14.4 |73.6
38|55 Th 42 46 88(15.6 | 72.4 88| i HERK 45 49 94]20.4 |73.6
39/ NER IEX 44 44 88|/ 15.6 |72.4 89 |fe 2 A il 48 46 94120.4 |73.6
40| ik fr 42 46 88| 15.6 [72.4 E 90| At Ui 49 51| 100]26.4 |73.6 =1
A1\FHE W< T 49 45 94/ 21.6 | 72.4 91 ik Y= 50 56 106/ 32.4 |73.6
42|48 | TEfE 39 42 81| 8.4 |72.6 928 B 48 45 93/19.2 [73.8
43 |1EH Gk 39 42 81| 8.4 [72.6 93| K BE 46 47 93/19.2 |73.8
44 V118 F5 k8 39 42 81| 8.4 |72.6 94| KH & 41 39 80| 6.0 |74.0
45|H B HETL 39 42 81| 8.4 |72.6 95 TiE A 43 43 86| 12.0 | 74.0
46 |BPR FR 48 45 93/20.4 [ 72.6 96 | K HE 45 41 86/ 12.0 |74.0
47\ KH JH& 46 40 86| 13.2 |72.8 97|/ #&+ 46 46 92/ 18.0 | 74.0
48 |fh Ay 44 42 86| 13.2 | 72.8 98 |fE &2 K ik 46 46 92/ 18.0 | 74.0
49 Km HX 41 51 92/19.2 | 72.8 99 |HLH B 47 45 92/ 18.0 | 74.0
50 61 Bk 41 38 79/ 6.0 |73.0 TEE 100 5K Jfisg 46 52 98/24.0 | 74.0 HE
1/ 6 SJILEERBREEI—X
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BRfEEH H :20224E07 HO1 H (42) ~ 2022407 H31H (H)
v RE 1.0 RN T D HME36.0 236. 0 ELA—: 1 2 4 6 7 8
1 3 4 5 6 8
RS WIREA SEHRY T AaT7hy b HTNR— 0 w1 2 4 5 7 9
fEH=a—A  H Jb W 2PN C BM50T N k43 N A EFS50 A
BN EHE o N T 4 AFEHAH
JIEASE SINE K4 =l GROSS| HDCP | NET | crossii ik JEAT SN K4 1t 75 | GROSS| HDCP | NET |crosshfi e
10128 53 49 49 98]24.0 | 74.0 IIEIE 5 50 50/  100]25.2 | 74.8
102 B fEish 47 51 98] 24.0 | 74.0 152 |eff ez 57 49| 106|31.2 | 74.8
103 | FH  J5e ] 41 38 79| 4.8 | 74.2 153|7TIRF F5 46t 39 42 81| 6.0 |75.0
104/ H4H A 40 39 79| 4.8 | 74.2 154|148k Fnz 42 39 81/ 6.0 |75.0
105w e FnyE 42 37 79| 4.8 [74.2 155|761 & 39 42 81| 6.0 |75.0
106/ H # 46 39 85/ 10.8 | 74.2 156/ &M EiG 46 41 87| 12.0 | 75.0
107 [ F 5 [l 44 47 91/ 16.8 | 74.2 157/ 5 41 46 87/12.0 | 75.0
108 /R £k 43 48 91| 16.8 | 74.2 158 |/NBF PSR 47 40 87/12.0 |75.0
109 A 1hE— 51 46 97/ 22.8 | 74.2 1598 & (| & 41 46 87/12.0 | 75.0
110|ZH fa 51 52| 103/28.8 | 74.2 Y 160 |56 5 75] 44 43 87/12.0 | 75.0 RE
111 ik £5H 44 40 84| 9.6 | 74.4 161 AT 44 49 93/ 18.0 | 75.0
L1123 AL TR 42 42 84| 9.6 | 74.4 162 &% 44 49 93/ 18.0 | 75.0
113452 5] 42 42 84| 9.6 |74.4 163 [LUA FE— 58 47 105/ 30.0 | 75.0
114/ +H ¥iZE 45 45 90| 15.6 | 74.4 164 %) HET 57 54| 111/36.0 | 75.0
115 #EPE 1 49 47 96| 21.6 | 74.4 165 [T FE 41 39 80| 4.8 |75.2
116| 1)@ Hupx 52 44 96| 21.6 [ 74.4 166 [faH 2Nk 43 43 86] 10.8 | 75.2
117571 & 44 52 96)21.6 | 74.4 167|222 JEE 44 42 86/10.8 | 75.2
118 AR [Eff 48 54| 102/27.6 | 74.4 1685 F &E— 47 39 86| 10.8 | 75.2
119 38 =5 49 53| 102]27.6 |74.4 169 |55 B 43 43 86/ 10.8 | 75.2
120 ik 42 41 83| 8.4 |74.6 B 170 %M £= 51 47 98/22.8 | 75.2 THEE
121 | A L 38 45 83| 8.4 |74.6 171 8F) 554 53 57| 110]/34.8 |75.2
122 | K% foid 43 40 83| 8.4 |74.6 172))11H Fnz 40 39 79| 3.6 | 75.4
123 8y fidt— 47 42 89| 14.4 | 74.6 173k =2 41 44 85/ 9.6 | 75.4
124|761l LA 45 44 89| 14.4 [ 74.6 174 |k %) 44 41 85| 9.6 |75.4
125| 20 pk [ 41 48 89| 14.4 | 74.6 175 85 ¥ih 46 39 85/ 9.6 | 75.4
126 =#F #5R 45 44 89| 14.4 |74.6 176 | A JEE 42 43 85| 9.6 |75.4
127 #AR JAHA 47 42 89| 14.4 | 74.6 177 BH HE 44 47 91/ 15.6 | 75.4
128|722 Wl 48 47 95(20.4 | 74.6 178/ &k — = 41 50 91| 15.6 | 75.4
129/ H B Bk 49 46 95|20.4 | 74.6 179 H R 48 49 97/21.6 |75.4
130|688 22 48 47 95(20.4 | 74.6 T 180|7R A FE 49 48 97/21.6 | 75.4 RE
131 +H EA 51 50/ 101]26.4 | 74.6 181 Kk H— 46 51 97/21.6 |75.4
132 Bl 41 41 82| 7.2 ]74.8 182|/NH A 54 50 47 97/21.6 |75.4
1338 A 38 44 82| 7.2 |74.8 183 A K HAER 42 42 84| 8.4 | 75.6
134 |HBE8E B 49 39 88/ 13.2 | 74.8 184 |[$nAK suih 42 42 84| 8.4 |75.6
135 fnkf B 47 41 88/ 13.2 | 74.8 185 | iE W< 41 43 84| 8.4 |75.6
136 #a0 HiE 47 41 88| 13.2 | 74.8 18685 A Fnfi= 40 44 84| 8.4 |75.6
137| = ek 42 46 88/13.2 | 74.8 187 8-H &t 41 49 90| 14.4 | 75.6
138| Kk H— 43 45 88]13.2 | 74.8 188|42H W] 44 46 90| 14.4 | 75.6
139 e KAy 41 47 88/13.2 | 74.8 189 Ki& FEFL 49 41 90| 14.4 | 75.6
140 |5 AK BB 52 42 94| 19.2 | 74.8 TR 190 | BpAS HESE 40 50 90| 14.4 | 75.6 HE
141 R4 HE—BR 43 51 94| 19.2 | 74.8 191 |76 & 42 48 90| 14.4 | 75.6
142|757k 1E3E 47 47 94(19.2 | 74.8 19264 I 52 50 102| 26.4 | 75.6
143|435 #15B 42 52 94| 19.2 | 74.8 193/ O 50 52 102| 26.4 | 75.6
144\ E B— 46 48 94| 19.2 | 74.8 194 =K J& 38 45 83| 7.2 |75.8
145 H B== 50 44 94(19.2 | 74.8 195 &7 40 43 83| 7.2 175.8
146 gk #E 48 46 94(19.2 | 74.8 196 | FREF /% 46 43 89/ 13.2 | 75.8
147 IR FER 45 49 94/ 19.2 | 74.8 19761 Bk 46 43 89/ 13.2 | 75.8
148| A H FFH 49 51 100] 25.2 | 74.8 198| H+Jd STk 44 45 89/ 13.2 |75.8
149 |7 Wl 48 52|  100|25.2 |74.8 1997k H $HFk 47 48 95/ 19.2 | 75.8
150 /e 2 A fE 50 50/ 100|25.2 |74.8 TRE 200 |LIAS fEfR 48 47 95/19.2 |75.8 HE
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BRfEEH H :20224E07 HO1 H (42) ~ 2022407 H31H (H)

v RE 1.0 RN T D HME36.0 236. 0 ELA—: 1 2 4 6 7 8
1 3 4 5 6 8
RS WIREA SEHRY T AaT7hy b HTNR— 0 w1 2 4 5 7 9
fEH=a—A  H Jb W 2PN C BM50T N k43 N A EFS50 A
BN EHE o N T 4 AFEHAH
JEAZ ZINE K4 H it P8 | GROSS| HDCP | NET | orossiiz ik JIEA7. ZINE K4 H it 75 | GROSS| HDCP | NET |crossif &

201 | BLH BERk 47 48 95/19.2 | 75.8 251 | R BEYE 52 57 109] 32.4 | 76.6
202 =R FA 47 48 95/ 19.2 [ 75.8 252\ F A 38 46 84| 7.2 |76.8
203 | A} H 45 50 95/ 19.2 | 75.8 253 HYP = 45 45 90| 13.2 | 76.8
204|8 EHE= 44 51 95(19.2 | 75.8 254|455 H(H] 44 46 90| 13.2 | 76.8
205| KEF EHKER 57 50/ 107|31.2 | 75.8 255 | A K B KER 44 46 90| 13.2 | 76.8
206 2 H 42 40 82| 6.0 |76.0 256 | KN Btz 45 45 90| 13.2 | 76.8
207 [[foc FEN¥E 42 40 82| 6.0 |76.0 257 | A 46 50 96/ 19.2 | 76.8
208| KA Th— 45 43 88/12.0 |76.0 268| 5 H B2 48 48 96/ 19.2 | 76.8
209 ALH ONEH 43 45 88/ 12.0 | 76.0 259 | MEE UG 44 52 96/ 19.2 | 76.8
21011 =1k 47 42 89/13.0 | 76.0 2607k & #* 44 52 96| 19.2 | 76.8
211 |2 BT 42 48 90| 14.0 | 76.0 261 | A% ABKE 47 55 102] 25.2 |76.8
212K JRE 45 49 94| 18.0 | 76.0 262 | KK i ] 51 51| 102]25.2 |76.8
213 W& T Fnn 44 50 94| 18.0 | 76.0 263 | KM et 51 51| 102/ 25.2 | 76.8
214 | 54T M 47 53 100| 24.0 | 76.0 264 |FEA il 48 60 108/ 31.2 | 76.8
215 |k Bz 51 55| 106/ 30.0 | 76.0 265|FA JSH 38 45 83| 6.0 | 77.0
216/t FBFE 59 53| 112]/36.0 |76.0 266|— 28 ff 43 46 89]12.0 | 77.0
217 /A 3K 42 45 87/10.8 | 76.2 267 |5 HH 46 43 89| 12.0 | 77.0
218 Nk 1EAs 45 48 93| 16.8 | 76.2 268 |5 B 43 46 89]12.0 | 77.0
219/ 5K #H] 44 49 93] 16.8 | 76.2 269 | HEEF F 45 44 89| 12.0 | 77.0
220/t EAT 45 48 93| 16.8 | 76.2 270/ H & 165 43 52 95/ 18.0 | 77.0
221 [ffe 2 A 21k 44 49 93| 16.8 | 76.2 271|220 Rk FEFE 47 48 95/ 18.0 | 77.0
222| g Fngk 51 42 93] 16.8 | 76. 2 272141 B 47 48 95/ 18.0 | 77.0
223|450 49 50 99]22.8 | 76.2 273 W E 40 55 95/ 18.0 | 77.0
224 |5 B 49 50 99| 22.8 | 76. 2 27458 HE— 50 45 95/ 18.0 | 77.0
225 Wi A T 46 53 99| 22.8 | 76.2 275 E KRRk 48 47 95| 18.0 | 77.0
226 [ifkA 54 51| 105|28.8 |76.2 276 (Ll {H2Z2Jr 43 52 95/18.0 | 77.0
227 |75 Bk 42 44 86| 9.6 |76.4 277 A 125 55 46 101]24.0 [77.0
228 | H [ 42 44 86| 9.6 |76.4 278 |IA IERH 54 47| 101/24.0 | 77.0
229 gk P& 44 42 86| 9.6 |76.4 279 R H EE=R 52 55 107/30.0 |77.0
230 @M AT 44 48 92| 15.6 | 76.4 280 |1EHE IE 43 45 88/10.8 | 77.2
231 A #E 48 44 92| 15.6 | 76.4 281 AT H 40 48 88/10.8 | 77.2
232 |ER B 44 48 92]15.6 | 76.4 282 | Nk FE 45 43 88/10.8 |77.2
233 EJ1] ) 53 45|  98/21.6 |76.4 283 |[HIHA & 47 AT|  94/16.8 | 77.2
234 |8 4~ (1] 46 52 98/21.6 | 76.4 284 | K PEFE 45 49 94]16.8 | 77.2
235 1LUA B 49 49 98]21.6 | 76.4 285| FH =E 42 52 94/ 16.8 | 77.2
236| T-H £ 42 43 85| 8.4 |76.6 286 | [Lff 3CH] 52 48| 100|22.8 | 77.2
237 [fE ] KL 41 44 85| 8.4 | 76.6 287 Nk Al1E 46 54 100| 22.8 | 77.2
238 |BLH 7§51 43 48 91| 14.4 | 76.6 288 |5 K #ER 49 51 100} 22.8 [ 77.2
2397 K 47 50 97| 20.4 | 76.6 289 R 7 50 50 100| 22.8 | 77.2
240|ILAYT FHxR 45 52 97]20.4 | 76.6 290 —hk 50 50| 100]22.8 | 77.2
241 |{&FF SCHE 50 47 97/ 20.4 | 76.6 291 ek 8] = 46 54 100/ 22.8 | 77.2
242 |fi Rl 50 47 97]20.4 | 76.6 292/NH F8L 51 49| 100|22.8 | 77.2
243 EAREE 48 49 97/20.4 | 76.6 293|811 Hk+ 49 51| 100]22.8 |77.2
244 \)1137 5 BB 45 52 97]20.4 | 76.6 294|550 —hak 54 52 106]28.8 | 77.2
245 | At #IE 48 49 97120.4 | 76.6 295 |y 473 51 55 106]28.8 | 77.2
246 | HiR HEZ 46 51 97]20.4 | 76.6 206 | R/E 52 54| 106]28.8 | 77.2
247 f& [ FnHl 53 50/ 103]26.4 | 76.6 297 | Rk FFHb 51 55| 106]28.8 | 77.2
248 |1 BB 51 52 103] 26.4 | 76.6 298| K H HEA 49 57 106/ 28.8 | 77.2
249| B HE 44 59 103]26.4 | 76.6 299 7&Kk Fnf 59 53| 112]34.8 | 77.2
250 K% 5% 56 47| 103/26.4 | 76.6 B 300 |[fnHE =R 44 43 87| 9.6 |77.4 Y
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BRfEEH H :20224E07 HO1 H (42) ~ 2022407 H31H (H)

v RE 1.0 RN T D HME36.0 236. 0 ELA—: 1 2 4 6 7 8
1 3 4 5 6 8
RS WIREA SEHRY T AaT7hy b HTNR— 0 w1 2 4 5 7 9
fEH=a—A  H Jb W 2PN C BM50T N k43 N A EFS50 A
BN EHE o N T 4 AFEHAH
JEAZ ZINE K4 H it P8 | GROSS| HDCP | NET | orossiiz ik JIEA7. ZINE K4 H it 75 | GROSS| HDCP | NET |crossif &
301 gk &+ 43 44 87| 9.6 | 77.4 351 #Ex R EHKL 58 49 107]28.8 |78.2
302 H¥ ] 46 47 93| 15.6 | 77.4 352| B HE 60 53| 113]34.8 [78.2
303 | Py B E 46 47 93| 15.6 | 77.4 3534 FEE 42 46 88| 9.6 | 78.4
304 | /APRH == 51 42 93(15.6 | 77.4 354 |k K2 47 47 94| 15.6 | 78.4
305| &4 BT 48 51 99/21.6 | 77.4 355 [1FEEE AkI5 48 46 94| 15.6 | 78.4
306 |f& ] = 49 50 99(21.6 | 77.4 356 [FHIR 5E 5 47 47 94| 15.6 | 78.4
307 /NEF ] 55 44 99(21.6 | 77.4 357 | %HE SFFD 50 44 94| 15.6 | 78.4
308 ~H EELR 51 48 99|21.6 | 77.4 358 | =ik 45 55 100| 21.6 | 78.4
309 | ik 1& 46 53 99/ 21.6 |77.4 359|H il T 51 49| 100]21.6 |78.4
31074t 27 48 51 99/ 21.6 | 77.4 360 H &HET 44 49 93] 14.4 |78.6
311 R iz 53 52| 105/27.6 |77.4 361 | BH HH 45 48 93]/ 14.4 | 78.6
312\ & EME 53 52 105]27.6 | 77.4 362|1THN H A 43 50 93]/ 14.4 |78.6
313/K B X 40 46 86| 8.4 |77.6 363|45H & 50 49 99/20.4 | 78.6
314\ & 44 42 86| 8.4 |77.6 364| —4F #IK 56 43 99/20.4 |78.6
315K H # = 45 41 86| 8.4 |77.6 365|)11 F Fngz 48 51 99/20.4 | 78.6
316|575 B 44 48 92| 14.4 | 77.6 366|547 B 52 47 99/20.4 |78.6
31741 [EAsf 45 47 92| 14.4 | 77.6 367 KA HET 48 51 99]20.4 | 78.6
18| KK FHK 48 50 98/20.4 | 77.6 368|/h P Fk 52 53| 105/ 26.4 | 78.6
319 LA fHifR 45 53 98/20.4 | 77.6 369 % O tisz5L 56 55| 111/32.4 |78.6
320 Bk 1% 53 45 98/20.4 | 77.6 3704 & 43 37 80| 1.2 |78.8
321 ek Bl 55 49| 104|26.4 | 77.6 371 |{HEE &) 40 46 86| 7.2 |78.8
322" AN FE 50 54| 104|26.4 |77.6 3725 H FHH 48 44 92/ 13.2 | 78.8
323 [iEH B 57 47| 104]26.4 | 77.6 3730 JEF0 41 51 92/ 13.2 |78.8
324 |\ M ik 48 56 104] 26.4 | 77.6 374|F 1L EEA 45 53 98/ 19.2 |78.8
325 M BT 45 46 91| 13.2 | 77.8 375 xR BIE 51 47 98/ 19.2 |78.8
326 38 FR 43 48 91]13.2 | 77.8 376 EiE 707 48 56 104|25.2 |78.8
3275 H — ik 47 50 97/ 19.2 | 77.8 377\ 53 51 104]25.2 |78.8
328| A K I 49 48 97| 19.2 [ 77.8 378 |HBEE Pk 51 59 110]31.2 |78.8
329 | Ei 49 48 97/19.2 | 77.8 379/ =1k 42 49 91| 12.0 |79.0
330 Fr iy =] 46 51 97/19.2 [ 77.8 380 | UTHE SRR 45 46 91/12.0 |79.0
331 FAA Kl 45 52 97/ 19.2 |77.8 381 |22 Rk [EHE 50 47 97/ 18.0 |79.0
332 |FEAR il 51 52| 103|25.2 |77.8 382K JE= 49 54| 103/24.0 |79.0
333|H F # 49 54 103]25.2 | 77.8 383 FF 49 47 96/ 16.8 | 79.2
334|/NH EBL 56 53] 109]31.2 [77.8 384 |l ot FEIK 49 47 96| 16.8 | 79.2
3358 MH_— 41 43 84| 6.0 |78.0 385 [AaAs HEH 51 51 102/ 22.8 | 79.2
33618 H EK 41 49 90| 12.0 | 78.0 386 |8 | BUE 54 54 108/ 28.8 | 79.2
337JIE Fnz 46 50 96| 18.0 | 78.0 387 HH E4 56 52| 108]28.8 |79.2
338 )1 EiE 46 50 96/ 18.0 | 78.0 388| K R 59 49| 108/28.8 |79.2
339 1A LR 56 46|  102]24.0 [ 78.0 389 [Tk FEME 44 45 89| 9.6 |79.4
340 7R A FE 52 50 102]24.0 [78.0 390 | ik & 51 44 95| 15.6 | 79.4
341 IUA AE 56 58| 114/36.0 |78.0 391 |k =B 47 48 95 15.6 | 79.4
342 |FgiE EE 53 61 114]/36.0 | 78.0 392| W FeE 53 42 95/ 15.6 | 79.4
343|559 7LE 45 44 89/10.8 | 78.2 393 |5 F5HA 55 46| 101/21.6 |79.4
344 | IR 44 45 89/ 10.8 | 78.2 394 | IAK & 52 49| 101/21.6 |79.4
345 | R e 49 46 95| 16.8 | 78.2 305 |1 1 AR 48 53| 101]/21.6 |79.4
346 | Ik Bt 45 50 95| 16.8 | 78.2 396| LpE BE 51 56| 107]/27.6 |79.4
347 & H EN 50 51| 101]22.8 |78.2 397 WA F 49 45 94| 14.4 [ 79.6
348 & E—BF 51 50 101]22.8 | 78.2 398 |/vbk EER 49 51 100/20.4 [79.6
349 |{FHik A55% 59 48| 107/28.8 |78.2 399 TN 15 51 49 100]20.4 |79.6
350 ik b 52 55 107]28.8 | 78.2 B 400 | 8 & =] 56 50 106] 26.4 | 79.6 TE

t/ 6 LR EHABIET—




HHH :2022.8.2 6:39
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BRfEEH H :20224E07 HO1 H (42) ~ 2022407 H31H (H)

v RE 1.0 RN T D HME36.0 236. 0 ELA—: 1 2 4 6 7 8
1 3 4 5 6 8
RS WIREA SEHRY T AaT7hy b HTNR— 0 w1 2 4 5 7 9
fEH=a—A  H Jb W 2PN C BM50T N k43 N A EFS50 A
BN EHE o N T 4 AFEHAH
JEAZ ZINE K4 H it P8 | GROSS| HDCP | NET | orossiiz ik JIEA7. ZINE K4 H it 75 | GROSS| HDCP | NET |crossif &
401 =8 fEE 47 59| 106]26.4 |79.6 IES X 53 52/ 105/ 24.0 | 81.0
402 il IR 38 49 87| 7.2 179.8 452 = 41 51 92/10.8 |81.2
403 JFUH 3R 46 41 87| 7.2 179.8 453 |THE FENE 52 52 104] 22.8 | 81.2
404 AK F& 48 45 93(/13.2 |79.8 454 |/K 8 B H] 50 47 97/ 15.6 | 81.4
405 | §if)1l B3 51 48 99| 19.2 | 79.8 455K & 48 49 97/ 15.6 |81.4
406 | 3N 1F 45 54 99/ 19.2 |79.8 456 1L EAE 49 48 97| 15.6 | 81.4
407 |HHAT B E 51 54| 105/ 25.2 |79.8 457 |IRER R 52 51 103/ 21.6 |81.4
408|AK B KER 43 43 86| 6.0 |80.0 458| KN 55 60| 115/33.6 |81.4
409| 7k & 2 46 46 92/ 12.0 |80.0 459 | iz 56 59| 115/33.6 | 81.4
410 H # 46 46 92| 12.0 |80.0 460 | HEE FE 49 47 96| 14.4 | 81.6
411 5K W 45 48 93/13.0 |80.0 461 | ZRE JERER 61 47| 108/26.4 | 81.6
41278y =05 52 46 98/18.0 |80.0 462| H ] R 52 49 101]19.2 |81.8
413 | 2k FE A 49 49 98| 18.0 |80.0 463 |15 T FA 52 55| 107|25.2 |81.8
414 H gl 49 49 98/18.0 |80.0 464 |[EMHE ESE 50 57| 107/25.2 |81.8
415 &l 5 54 56 110/ 30.0 |80.0 465 |FAA 451 51 41 92/10.0 |1 82.0
416|H T 7&E 47 44 91| 10.8 | 80.2 466| LK SER 53 47| 100/ 18.0 | 82.0
ATINPE FEIR 47 56/ 103]22.8 |80.2 467 B BRI 53 59 112/30.0 |82.0
418| —kF (BE 54 49| 103|22.8 |80.2 468|/NER 1= 55 57| 112/30.0 |82.0
419 )1|IR; #— 57 52| 109 28.8 |80.2 4691175 =M, 54 64 118/36.0 |82.0
420 |F4E H 60 55| 115|34.8 [80.2 470 &3 1 62 56 118/36.0 |82.0
421 1R i 54 61 115/ 34.8 |80.2 471K Lo 54 51 105 22.8 |82.2
422 +H £ 44 46 90| 9.6 |80.4 472 | EH Bl 51 60 111]28.8 [82.2
423 )1 &% 52 44 96| 15.6 | 80. 4 473 K RS 45 47 92| 9.6 |82.4
424 |Gtk b1 54 54 108| 27.6 | 80. 4 ATA| VR R, IE— 44 54 98/ 15.6 | 82.4
425 M1 H A 58 50/ 108]27.6 |80.4 475 |t&E ] e 52 58 110]27.6 |82.4
426 | [ERS FR 60 54| 114/33.6 |80.4 476 7)1 FE— 54 56| 110]27.6 |82.4
427 2B —HE 42 47 89| 8.4 |80.6 477 )17 55 55| 110/27.6 | 82.4
428|548 K 47 48 95| 14.4 |80.6 AT & |1 67 49| 116/33.6 |82.4
429 | FEHE — il 53 48| 101/20.4 |80.6 479 |IRE & B 57 59| 116]33.6 [82.4
430 7R K B 53 48| 101]/20.4 |80.6 480 |z 1L EAS 57 46| 103]/20.4 |82.6
4317k F #A 49 52| 101]/20.4 [ 80.6 481 /NP 5L 49 60 109] 26.4 |82.6
432 | B4 5L 51 56 107/ 26.4 |80.6 482|FH B4 61 48|  109/26.4 |82.6
433|255 H (& 54 53| 107|26.4 |80.6 483 | R A T 59 56/ 115/32.4 |82.6
434 [UA ER 52 55| 107/ 26.4 | 80.6 A84| 7 HE Fngk 44 52 96] 13.2 |82.8
435 B H FHH 54 53| 107|26.4 |80.6 485 |JE R, 15 44 58/ 102/19.2 |82.8
436 7K = 49 58| 107|26.4 |80.6 486| 1L K E 49 53 102]19.2 [82.8
4137 x A BIG 54 53 107] 26.4 |80.6 487|Hh gy EEH] 51 51 102/ 19.2 [82.8
4385 FET 55 58| 113]32.4 |80.6 488|1FK Y= 55 53] 108]25.2 [82.8
439 |[E%Z 1R 61 52 113]32.4 [80.6 489 | 5 HE FokH 60 48| 108|25.2 |82.8
440 JFEH L5 50 50/ 100| 19.2 | 80.8 490 | F 1L HEE 57 57| 114/31.2 |82.8
441 T FENE 57 49| 106]25.2 |80.8 49175 K Y= 55 59 114/31.2 |182.8
442 6 B | 55 51| 106]25.2 |80.8 4921 F ZE 58 43| 101/ 18.0 |83.0
443 | L T 61 51| 112/31.2 [80.8 49358 B 54 53 107/ 24.0 [83.0
444 |8 H [ 45 44 89| 8.0 [81.0 494 |{FHiR = 55 64 119/36.0 |83.0
445| I #IR 45 54 99| 18.0 | 81.0 4951 | Fniz 50 56 106/ 22.8 |83.2
446 FH HBIE 49 50 99| 18.0 | 81.0 496| AN L+ 54 58 112]28.8 |83.2
447 [ = 51 48 99/ 18.0 |81.0 497 gk 2= 58 60 118/ 34.8 |83.2
448 BB H (& 57 48 105/ 24.0 [81.0 498 |k B E 49 50 99| 15.6 | 83.4
449 3K 1 7] 55 50 105/ 24.0 |81.0 499K &2 57 48 105/ 21.6 |83.4
450 18P AT 48 57 105/ 24.0 |81.0 TEE 500 | F¢[ER EHD s 47 45 92| 8.4 |83.6 HE
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HHH :2022.8.2 6:39

20224F A —/8N— K F A R

BRfEEH H :20224E07 HO1 H (42) ~ 2022407 H31H (H)

v RE 1.0 RN T D HME36.0 236. 0 ELA—: 1 2 4 6 7 8
1 3 4 5 6 8
RS WIREA SEHRY T AaT7hy b HTNR— 0 w1 2 4 5 7 9
fEH=a—A  H Jb W 2PN C BM50T N k43 N A EFS50 A
BN EHE o N T 4 AFEHAH
JEAZ ZINE K4 H it P8 | GROSS| HDCP | NET | orossiiz ik JIEA7. ZINE K4 H it 75 | GROSS| HDCP | NET |crossif e

501 YLk #f{d 57 53| 110/ 26.4 [83.6

502 | AT = 49 61 110] 26.4 |83.6

503 | IR IE 55 55 110/ 26.4 |83.6

504 | 51 A 58 52| 110]/26.4 |83.6

505 )11 fB— 56 60 116]32.4 [83.6

506 A X+ 54 55| 109|25.2 |83.8

507 | SRR 64 45| 109]25.2 |83.8

508 A Fok 56 59| 115/31.2 [83.8

509 A H IR 55 47| 102]18.0 |84.0

510|F H 2E1% 58 62 120/ 36.0 |84.0

511 1HH O X 54 66 120/ 36.0 | 84.0

512|IUA AE 56 64 120/ 36.0 | 84.0

513 BIE Vh=E 64 56| 120]/36.0 | 84.0

514 #2112 55 52| 107/22.8 |84.2

515/db3E 7 LA 53 60 113]28.8 |84.2

516|TfkE E5L 49 57| 106/ 21.6 |84.4

517\ HALE 49 56| 105/20.4 | 84.6

518 |db)1] &t 55 55 110] 25.2 |84.8

519 |t ] BT 46 48 94| 9.0 |85.0

520| F AR X+ 57 55 112]27.0 |85.0

521 |tk R 59 62| 121]36.0 |85.0

522 V7K Fnf 56 65 121]36.0 [85.0

523 |)11IKs &2 — 69 52| 121]/36.0 |85.0

524 | Fn fE— 51 56 107/ 21.6 |85.4

525 B A 64 49| 113/27.6 |85.4

526 K5 A 59 54 113]27.6 |85.4

527 % HEA 57 65 122]36.0 |86.0

528 | /KB FiH] 64 58| 122/36.0 |86.0

529 [fH FrHH 61 60 121]34.8 |86.2

530 |ty T 56 62 118/ 31.2 |86.8

531 K H % 60 64| 124/36.0 |88.0

532|ZEH Kilifi 66 57| 123]/34.8 [88.2

533 IR =5 63 58| 121/32.4 |88.6

534| HE—1— 62 63| 125/36.0 [89.0

535 /0 B A 60 55| 115/ 25.2 |89.8

536 ‘& — A 62 64| 126]36.0 |[90.0

537 |Kalky 45 46 91| 0.0 [91.0

538 | AH AlKE 68 59 127 36.0 [91.0

539 [f& ] 6% 53 56 109} 16.0 [93.0

540|If /K Fofl 58 71 129]36.0 |93.0

541 )11} HEE 62 68 130/ 36.0 | 94.0

542 |8t HE 65 65 130/ 36.0 [ 94.0

543 |)11I6x f2— 63 67| 130]/36.0 |94.0

544|%H —hak 53 62 115/20.0 | 95.0

545|817 BLEK 66 65/ 131/36.0 |95.0

546 | 7 Hil 1 49 63| 112/16.0 [96.0

547|551l FExH 63 70 133/ 36.0 |97.0

548|HH 5L%A 62 78 140] 36.0 [104.0

549 |k Ik 70 72 142} 36.0 |106.0 BB

550 | #5111 P 71 76 147]36.0 |111.0 HE
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